CHMI5! Quiz 5a 25 Pts Fall 2009 Name: R%
SHOW ALL WORK TO RECEIVE CREDIT.
Atomic masses: H 1.008, C 12.01, Na 22.99, P 30.97, S 32.07, O 16.00, K 39.01, As 74.92

1. (8 Pts) Determine the molarity of an H3AsOy (arsenic acid) solution if it took 43.25 mL of 0.223 M
NaOH solution to neutralize 25.00 mL of the H3AsOy solution. (First complete and balance the reaction)

B2 NaOH(aq) + HiAsOs(aq) — 3H20@) + Mey As 0y, &%)
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2. (6 Pts) How many milliliters of 0.150 M H,SOy are required to react with 8.20 g of NaHCO3

H,SO4(aq) + 2NaHCOs(s) — NaSOg4(aq) + 2H,O(1) + 2CO4(g)
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3. (8 Pts) Write the total ionic and net ionic equations for each of the following.

* 2HF(aq) + Ba(OH)(aq) — 2M0() + BaFa(aq) o
Wk e S1rovg Race

1. total 54 4 - :

T N t, .

oquation  LHF + Ba + 20 =) Hpp t Be + LF |

2. net ) P _ — o

ionic AHF + IO = /iH:LDg;) + /X'P

equation

b. Pb(NO3)2(aq) + NaZSO4(aq) — PbSO4(S) + 2N3NO3(aq)
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4. (3 Pts) How many mL of 2.00 M nitric acid must be used prepare S00 mL of 0.250 M nitric acid

solution?
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CHMI151 Quiz 5b 25 Pts Fall 2009 Name: )< Cy
SHOW ALL WORK TO RECEIVE CREDI{. )
Atomic masses: H 1.008, C 12.01, Na 22.99, P 30.97, S 32.07, O 16.00, K 39.01, As 74.92

1. (8 Pts) Determine the molarity of an H3AsOy (arsenic acid) solution if it took 33.25 mL of 0.223 M
NaOH solution to neutralize 20.00 mL of the H3AsOj4 solution. (First complete and balance the reaction)

_ H3AsO4aq) + 3 NaOH@aq) — 23HaO®) + My AsOy @)
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2. (6 Pts) How many mllllliters of 0.150 M H2$O4 are required to react with 10.20 g of NaHCO;

H,SO4(aq) + 2NaHCOs(s) — Na,SOs(aq) + 2H,0(1) + 2COx(g)
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3. (8 Pts) Write the total ionic and fiet ionic equatxons for each of the following.

a. Ba(OH)(aq) + 2HF(aq) — BaF(aq) + 2H,O()
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b. Pb(NOs),(aq) + KiySO4(aq) — PbSO4(s) + 2KNOs(aq)

1. total

ionic PL1T+ Q_J\/O; -+ Q_K-"—P SO;- '—9 Pg) \SD?& (.S‘) +* Q.K++QMO;

equation

2. net

ionic PAQ* -+ 507

equation

S

— Fésdy(S)

4. (3 Pts) How many mL of 2.00 M nitric acid must be used prepare 500 mL of 0.250 M nitric acid

solution? M, V, :MLVL\ V. = M, f// (O Q-S'ON\jtgéme;
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